0 TG‘QYTJ
2)  ¢'(x1e( 6x?- %P) - X 4 2.><+’5) f(xs-zﬁ‘ +‘:).(..z>< t2)
gl
2 X~
3) (l) XLHI( so / X:L(
N X. 5, =<

Ccmc} Cb eS Su,\c.;éﬁ \"2‘:‘:0!1 ::)J & CJ._OM\”T-:: St *DCJ::;_{ lag’

AL MY €S reoles y

A,

& c:q,f?"o Q] Cﬁt:-.lf’ 8 ¢ U "2 ..,_-j J'E (\CtmfﬂDJOYh

Digl= I -<¢z)-qj__

R 4
9("‘“ x| <= _—’—):-——-* = L
" 3
(-x) =1¢ X = (€
C e 3(%-\ - 3(.-—-){) V x ¢ D(fj] y >¢€ tiene ﬁ\if’ 57 <o )O?"I‘
<) § /P Z 4 s X4 o AN
X —o [,* XL"'{é
QVY*W & :- = O =D X9 es AV
X — Y X —t€
e 2
X —=
Qj) ,.Qlffh 2 e QPM & < JQ}/"“' X 5O
X— 4 oA X"-1¢ x—> o X1 X— 0 4.
X . 2%
Z\Jfgc) SO S A V”
. Koo = X













o7

Zx‘{_[










—
i———————
e ——————









